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THE BASIC LEARNING SKILLS TEST

| This test is degigned 1o measure your abstract raasoning
skill,

2 Thia test iz comprized of 80 questions. The exam duration
is 120 minutes.

3. The questions need not be answered inany special order,
but make sure that the number on the answer sheet does
indesd correspond to the number of the guestion vou are
working on fn the test hooklel

4.Decimals are indicated by a comma () in Turkish.

TECT CCHOBHBIX YYEBHbIX CIIOCOBHOCTER

[ TaHnnifl TeeT paapafoTas © Tal ki OleHKH Ballero
AGCTPAKTHOTO MLETLACHIA,

2 Jarsnit recr cogepiT 80 sonpocos,
[pogomraHTerEAO0cTs Jicamesa 120 MEHYT.

3. MomeTe NPHCTYIATE K 0TBETY ©Moforo Bonpoca TecTa;
Mpw afozHadeH OTRETOR Ha SONDOCH Oy ibTe
HHHMATEARHE!  9Ta6Ll HoMep BONPOCa TECTA CORNANAN ©
HOMEPOM DHOLMEHHOTD OTEET,

A rabfinl NOMEFITE AECHTHYHELE Aol B TYPeIE N
TEKCTAY HCTONEIYETO 3anATaH {,),
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A

L DUMLUPINAR = 3476415829

= PUANLI =7
A) 124865 B) 142856 C) 142865
D) 341856 E) 324865
2, 1 i
35624 46978
72653 69287
65372 96482
42356 78469
53427 208964
= 549723 =7

|. Gruptaki sayilann rakamlan birer rakap ile gisterilerek
. Gruptaki sayilar elde edilmistir. Buna gore; 549723
hangi sayr ile gisterllmistir?
The numbers In group Il sfand for the number in group |
when each number has besn coded with a specific
mumeral. Which number corresponds fo 5497237
Kawdes Lugbpa coomasmeomayem tbghpe. Lugoer &
nepscl 2pynne coomasmomaan ylchpam amopod
epynnsi. Baifepume kapue ua Wudhp nodkodam 548723
K 2mony HaBopy Lughp.
A g A R el 6 ) e ] a3
,_ra..ﬂkl;ﬂl saall L..iln:l':l__h...'.._l uﬂj‘!ﬁi:.,...p..]]
3279459

A) 625789 B) 624789 ) 623783

D) 267843 E) 264879

3. @ABCDEF = FEDCBA
KLMNPRA — RLPNMK
O@TSVXYZA — TYSVXZ

> @KCRXMTA =7

A) KMXCRT B) KMXRCT C) KMCXRT
) KMRXCT E) KMCRXT
+ —-f-:f'ﬂ'
E MD,* 2315
ANY SV 4 \J16,/8
RK X PU|__, |713X911
I RN 10 712N\ 1
INL 8145

KARPUZ = K+A+R+P+U+Z = 68

= SERENAD=7

Yukarida verilenler belidi bir kurala gére olusturilmustur.
Bunga gére SERENAD =7

The above is based on a certain rufe. According fo this
SERENAD=7

B coomeemocmauy ¢ onpedensHHBIMU Mpaaluranmu,
npusedeHHEIMU Bbille, kakoe Gydem UMembs aHaveHue
SERENAD =7
= -ﬂl:.n._h.-_*._'. AP R l.__l.u:.:u:.'l.::.i ol ) PP S et a
TDANERES 4.3
A) 69

B) 68 C) 67

D) 66 E) 65
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5. x®y=x+3q i
Xy = z.y = (5@1)EO(1®]1 ) =12
A) 48 B) 32 C) 24
D) 21 E) 15
6. 31 x 4 4 9 1 x
- & y 9 5 3 y 01
1 00 1 9 1 1 1 1
=% X ¥ =%
A ¥
A) 8 2
B) 6 2
) Z B
D) 8 il
E) Z (5]

7. 5 23=20
4 A2=12

6 25=16

e |
4l
%]
I
T

A) 10

D) 28

B) 16

8. 2= 4% £5y =

ded4 -7

A)1l

D) 3

B) 5

E) 35

E) 4

€y 21

C)9
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s fanal I:IIE.F.NI@{‘
=E . 3 Falo 3
..'.‘-"T”"i'f::.‘r-”-ﬂ A
et
- e | IR
{J 4 -.J 28
% :; ..E’lm |_;|
= [+ R+ =7
A)17 B) 16 EX5
D) 14 E) 13
10. 4 | | Bl e
a 12
b 5
C
=(a—b—-c)latb+c)=?
A) 11 H) 110 iy

D) 36 E) 119

11.
Sonug
Result
Peayavrar
A
q 6 1 2?
4 | 2| 8 !
A) 40 REP: L
D) 20 E) 18
12. i ] [ . 2 | & | b | e
4 36
10 b
¢ 54
=¢=7
D) 8 E} S
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13 + | a b C
a 10
b |2c-3
c 3a-1
ab.c=0
ac+bh=?
A) 29 B) 27 C) 25
D) 23 E) 21
. la|l-a? ||a|-2 |a|-=a
2
3 — 59
4
2
=, 4 — 7
A) 126 B) 128 €) 127
D) 129 E) 125

15,

A1 B) 2

D) 4

16,

+

() B [

CORE

A) 42 B) 39

D) 53

c)3

E) S

=32 F+1=10

=65+54=150

C) 47

E) 54
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17.

Yukaridaki say: diziiminde {7) yerne hangi say: gelmelidir?

What number showd be used in plece of the number
sequence (7) Above?

Kawol Homep cnedyem ucnoM:308ames aMScmo
nocnedosamenaHocmy wucen (7] Beiwe 7

®adle! (9) Al 0 Lol oy Yoy alaaind sy 030 G0 0 L
A)B

B) 6 C)7

) 5 F) 9

18. Asagidaki denge sekillerinden dengenin saglanmasi igin
* ? " yarine hangisi gelmelidir,
Which ane should come come instead of “ 7 " ta prvide
the balance from the balance shapes?

Credyiowes nonoxeHue pasqosecun Banarca dnr «7»
SMECITIO & KEKOL,

i Gle Jpasll (7Y 8l ol e TEL

@@E B E

===——==3
a ?
|
A)® 5SS 0888
D) E)
$8®0 885888
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19.
i 8k 2 15k
ANAN 'A"|‘“'|‘

< 2hr >S5

Sekildek terazinin dengeds kalmas: igin soru isareti ()
yerine hangl agiriik kenulmalidir,

Which weight should be put in place of the question mark |7)
S that the scale in the figure remains in balance.

Kawol sec criedyem Nocmasums sMecmo ayaxs sonpoce | 7),
Ymobet BanaMe Ha DUCYHKE CemasancA Ha Banadce

(2] el e e Yy diata g iy 5301 3 0 L g el ALY
S el 8 5l e el ol e

A)3 B) 4 C)5
D) 6 E) 7
20. L 11.
6 10 11 6
104 69
2 7 3 12
L.
17 10
?
2 5
A) 170 B) 130 C)176
D) 140 E) 172

21,

ZZ:

7L

o
[
c




)

E)

B) ®

D) ¢

25,

E)

B) ) D)

A)

DPUYOS 2020

24,
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A

O 44 Y
A) B) C)
¥ XX
) . E)
W "

28,
1|r |@
C|p]o
ASE

WX R B

29,

30.

D)9
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31. Asagidaki sekilde kag ticgen bulunmakiadir?
How many tnengles are there in the shape sbove?
Cronmeko mpeyeansHukes cnedyowu obpasom?

a gl o€ g pSill ey Jet)

Yukandakl seklin tamamlanmas: igin bos alana kag kilp
yerlestinimelidir?

How many cubes should be placad in the emply space fa

A) 33 B) 34 C) 35 complele the figure above?
Crombio KyBUKoS MO NOMECMUMb 8 Nycimoe
) 36 EY 37 npocmpars(Ten, Ymolsl FAE8pWLITe BUCKHOK saile?
Al sl e dlde g D ZdgaSlll e S5 Ay ally
eniel
A) 40 B) 50 C} 30
D) 10 E) 20
32,

34, S8 16 19 38 41 7

Yukanda wvenlen sayl dizisi  beliri  bir kurala  gbre

| . - i olusturulmustur. Buna gére *7 yenine gelmesi gereken sayly
- bulunuz.
% ] The number sequence above is based on & specific ruls.
- Wha! does the 7 stand for.
i < Padsl wicen & coomasmemauy ¢ SadHbIM Toagumanm,
] L" pussderHsiM aeie, Boifepume raxkoe U3 L nodxodasm
nod svaK 7
TR T R0 X VTN e T I K"\ B P S o
R T [P (LY T el asalh i gl il
Tuglalarnn hepsi aym boyuttadir. Bu yvijinda kag tane tugla Ml G Y 4 ""1 sl S i L'u_":
vardir? pletidy
Bricks are ail the same size. How many bricks are there in ; :
this stack? A) 86 B) 49 C) 64
KUpnUYu sce pduHaroecso pasdeps. Cronsxo Kupnudel @
IMOM CTERa s
0 U gl s 6 sl gl Ay D) 82 E) 45
A 32 B) 34 C) 36
[¥) 38 E) 40
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Omel/Samplel DEpaet Jos
l. 1. 1.
35.
Danme tekertag (D) géstenlen yinde dbndiginde bagh kayis
S e S, dier tekerleklen gevinr, tekeriekleden hangisi en fazla ddner.
i Tied strap when the iming whee! (D] rotates in the direction
4 s shown tums other wheeals, which whesl furns the most.
: - ApURpennEH pelet, koeda apatyaroweecr Kameco (D)
— e v NOS0pEYUSISTICA @ YKAAaHH0M HANpaaTe UL Nosopayusaem
l. 1. 1. dpyeue koNeca, KEKOS kDNeco Spalwaemcn Haubonee.
2y M 5 L iy pall (D) sy ¢ g sl ola¥) 3
BN ol s gl ¢ gAY el Gl Al all,
A) B)
mMo B) E Cya
C) D) Dy F E) G
E)

10
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37. 38. Asagidaki sekillerden hangisi farklidir?
Whrch of the following Figures is different?
Kaxan us cnedyiowux chueyp omnuysemes?
il T ASANT o el

O L

A) B)

Yukaridaki sekil bir kip clusturmak Gzere katlandiginda,
agagidakllerden sadece hangl ikisi Gretilsbillr.

Only two of the foliowing can be produced when folded fa
form a cube of the above figure.

monako dea U3 credysouuy Mogym Bhime DoRyYeHEl &
croxessoy sude, dmobsl cghopyuposame KyE Ha pucy e
abiLue.

o nie gl Lpyls e Lo Lol 2l =5 (S Ay gl dall
el B

0 03
D &

AV TN By 1,V Cy 1, 1V

C) D)

E)

D) 1,1V E) IV, V

11
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39,

X

Y

Sekildeki kapali kipin karsilikl yizeyine ayni harfler

yazilmustir, kOpdn aciimi hangisidir?

The same leffers are wrillen on the opposite surface of the

clozed cube, Which is the opening of the cube?

Jmu e Bywasl HENUCaHE! HE MPoMUeEneNoKHOG

nosepxHocmy 3amknymoso kyBa, Ecnu aaw kyb amypoemcs,

kakol sapuadm o Bydem7?

e M,JM&MJHIEMH}%%QJ)_;]HL@
Ui aallll

Al Z | Y L X

Bl z|Y|z|vY

D)

v

40,

A) B) c)

E)

41, Asagidakl sakilerdan hanalsi farkhdir?
Which of the following Figurss Is different?
Raias v3 cmedpowuy dhuzyp omnuyaemca?
st L QA1 e 5h A sally

D)
\
o<t/
1:} I

=
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42 12K =9L=4M= 18N

—

SRTP 5 KT P

€)

>m00
"’I‘\

13
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44,
oKL L5 abchabeahb
™ K=7
_ 7
3
Al 100100 By 1000100 ) 1000010
A) 5 B) & C)7
D) 100010 E) 101000
D) 8 E) 9

14
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46, 0,03 05 0,6

0,003 005 003

A) 40 B) 50 ) 60
D) 30 E) 20
47, 1 2!3 4{ {11 1z_
2 272 3 P
A) —4 B) 4 €15
D) -5 E) —6

48, 3 1 g
2 n.z—u.a}‘ﬂ'S:,,
0,5 ]
13 41
A) = B) 9 6)—
) ) )3
D) 21 E) 33
49, 4 I 2
¥3—1 +2+1_,
: i
V5 —2v6
A) V6 B) 3 €)1
D) V2 E) 2

15
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50. g =+5+43
a’ —2v3a+3=7

A) 3 B) 4

D) 6 E)7

51, x+9 h‘_ﬁ 11
x—2 x+1 ° Z-x

=x =1
2 1
A) —= B) —=
J3 }2
3
Dy — E) 4
}2 )

C)5

€y

16

52, Zx+hy—T7z=8
x+2y—2z=06

A) D B) 5
D) 15
53, a 2
b 3
u+2h_
h—a
A) 4 B) 5
D} 7

};xi—y-rz:?

E) 25

E) 8

€) 10

'l:} [{]
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5. ,y.zit e R

X z
Ei 42 = m=7
Zy—mt -
A) 6 B) 4
D) 3 E) 7
55_. zﬂﬂlﬂ o zlﬂul? . 220‘1& e 21 =3
Ay 2 g) 21000 £
D:I EED]T E} ZEUIH

)5

E].EIIH-

17

56, .|::?'+!:r2_3 a? I:I__’
wh o TR

A) 10 B) 11
D)9 E) 8

57. 9x% —1=0

(oziim Ilimesi
Solufiom =at

= HAOOP PemeH ?
s i
1 13
SEIEETE
) 3 ) 33
D)1 E)0

€)7

C}l

1
3

|
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A

58. log 5 5(V5+2) + log gz, 5 (V7 —V6) =2

A) —2 B) —1 €)0

D) 1 E) 2

59, logz(2x + 85) =3

AY 16 B) 17 G)18

D) 19 E) 20

18

60, Ilrr:';(x:" —2ax*+3)=3
I—

=ua=7

A) O B) 1

D) 3

61. o FCx)—2 _

5
r—3 x2—9

= lim
x—3 x—3

A) 20 B) 26

D) 32

flx)+2x—8

E)4

E) 43

€)2

)29



